Question 6 2010 HSQ Mathematics Band 2/3
Sample 2

Start here for
Question Number: 6

) Let £(x) = (er2)(x “+4) :
P] Shouw e Di-l"'\ Lj - (@'] hay pot Srak g:mh‘\' 5.
Star colory when \6‘10

‘jl"*f_u‘wV' = SEh: i
-.j"_- XA UL EXLY 3y T Ml =
- LL*‘A_J‘-_' l:’g"'d‘kﬁ W/ =11_'#!\
“Asx* + Ax+& =0 v' " im

Q’_i )C’:- ¥ )
=

“\ Fiod volues fsi concane down  anrd orccac up of Tﬁ-”j;(l:}

COove Up e X770
COCove Aown Ll Q0O




Question 6 2010 HSC Mathematics

Band 2/3

W) Seeton |
X values vwnen x:ﬁ"—‘:? :'l: @; i—“ﬂ ¥ LD_l + 4)
Cax2) (2 44) =06 =&

x4 A x enn v 50
X2+ 22 ¥4 xr+820

o

f
/ > e
%
i B

b) (=D

P
VFed £ PO® o cadhany:
ZPOQ = \80 - AS ~AD

= 90
) VO ¢ adeuns TE_,__
7

Sample 2__

Additional writing space on back page.

CMFice Lse Omly - Do NOT write anyehing, or make any muorks below this line,




Question 6 2010 HSC}Mathematics Band 2/3
= Sample 2

W) Peowe . AOPT o ® Con gruent o AOQY

- Z_OP—T -‘_“/:" OG}:T-_ — Gweny €\ nt o.-x&\t,-

00 20 S pues SneeE mols
ei=Q71 Corpindiculor rr*LQ“(‘lt‘\jﬂ’t CTE S L 3‘(&5
vy = PSS

W)Fiea ©X
e
6!.,-“_(\ 4 5 (L | - =

T

__Q—"l—lssl_{__%l.
915429
= 90

= V5o

P

‘\f{) ?\r\& ‘h Ot Sy b“r\n._m rQSmr\
area ok =edkoc = 'Erl (:Er)

=Ll 6 (M%)
-2 (g)
=S it 45119
A

You may ask for an extra Writing Booklet if you need more space to answer question 6.
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